Analyze

Straight Line Equation

The Method of Least
Squares
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y = Bo+ Br1x
Bo:y — intercept when x = 0
B1:slope of line

Yobservea = (mean value of y for a given value of x)
+ random error

y=Po+pix+e

Random error: difference between y,pservea AN Vimean
Best-fitting line prediction equation (regression line):

Y =Po+ pix

y:predicted value of y obtained from the fitted line
Bo & f1: estimates of the true y & B

Principle of Least Squares:
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Sum of Squared Errors = SSE =

n
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By substituting the value of ¥;:

n
Sum of Squared Errors = SSE = Z[yi — (Bo + rx)]?
i=1

Least square estimates of ,[?0 & f3; can be estimated as follows:
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(s<e example pp. [x- 16)-




